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4. Using the data as given, develop the simple linear regression models for estl'mating trips pe -
dwelling unit with family income or household size as the independent variable. Indicate whih of
the two model is more significant. (25 aznuu)

Data for Trip-Generation Analysis

Item Family : Hou: ehold
Trip/D.U.  income size
1 - 4.2 5,000 2.7
2 3.8 3,400 2.3
3 3.9 5,500 - 2.3
4 4.5 6,800 . : 2.8
5 56 . 9,100 ' 2.5
6 58 6,600 . _ ) - 2.7
7 4.4 7,500 ‘ ‘ 2.3
8 7.0 8,500 : 31
9 5.9 8,600 _ 2.8
10 3.1 4,200 : . . 2.3
11 - 46 5,600 : _ 2.4

12 6.6 6800 . 3.0



5, A three-zone city having travel times (in minutes) as shown in the cells of the table is likely to add
1000 persons to its present population in the next 5 years. (25 azuuu)

(@) It is hypothesized that the distribution of this additional population will be in proportion tc a
zone's accessibility to employment. The additional employment in the next & years and i's
distribution is also shown. Assuming b=2, use Hansen's model to distribute the growth ¢ f

population.

Zone 1 2 3
1 1 3 8
2 3 1 6
3 8 6 1
Zone Future Employment

1 150

2 30

-3 200

(b) It is hypothesized that the additional population will be distributed on the basis of acces: ibility as

well as on the available vacant land of each zone. What will be the zonal distribution?

Zone Vacant Land (rais)
1 51
2 21
3 42 .

{c) If in 'éddition to conditions described in parts (a) and (b), itis hypothesized that the
attractiveness of an individual zone plays a part in the location of the additional populati »n, as
per figures shown, how will the additional population be distributed?

Zone Attractiveness
1 3
2 2
3 1
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